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A helical compression spring is made of #18 music wire and has 3.5 mm pitch. The total
number of turns is /5 and the ends are squared and ground.
a) Find the free length and solid length of the spring.
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b) If the spring rate is k = 1 N/mm, find the mean coil diameter.
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¢) Find the force required to compress the spring to its solid length. :
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d) Find the maximum shear stress in the sprmg when it is compressed to its solid length.
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e) Find the factor of safety for the spring when it is compressed to its solid length.

- Bte 10-l ~ A=22/| Ms & m=0.1u5 > Su= 2211] o152 298 MBS
oint
:] Table J0-6~Sy = O.LS QH = O #219¢ = 969, 2 MR,

=Sy, /?; = 9892 o 7= 1.23 Ne= )23

f) Is buckling possible?
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